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1.	Since the bond’s value is multiplied by 1.07 each year, its purchase price would have to be $10,000 · (1.07)–30 ( $1,313.67.


2.	Since the value of a bond at maturity is fixed, if the price is low its value must increase quickly to reach the fixed maturity value, so the yield must be high. Conversely, if the price is high a smaller rate of growth is needed, so the yield is low.


	For example, consider the $10,000 30-year bond from problem 1, at different yield rates. By the same computation shown above, at a 6% yield the initial value would be about $1741.10, while at an 8% yield the initial value would be only $993.77. Note that what might seem to be a fairly small difference in yields (6% versus 8%) makes a substantial difference in value over thirty years.
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